

3.21

$$\begin{aligned} 1) a) \int x \cdot e^{-x} dx &= x \cdot (-e^{-x}) - \int 1 \cdot (-e^{-x}) dx \\ &= -x e^{-x} + \int e^{-x} dx = -x e^{-x} - e^{-x} + k \\ &= \underline{\underline{-e^{-x}(x+1) + k}} \end{aligned}$$

$$\begin{aligned} f(x) &= x \\ f'(x) &= 1 \\ g'(x) &= e^{-x} \\ g(x) &= -e^{-x} \end{aligned}$$

$$1) c) \int x \cdot \sin(x) dx \quad \left| \begin{array}{ll} f(x) = x & g'(x) = \sin(x) \\ f'(x) = 1 & g(x) = -\cos(x) \end{array} \right.$$

$$\begin{aligned} \Rightarrow \int x \sin(x) dx &= -x \cos(x) - \int 1 \cdot (-\cos(x)) dx = -x \cos(x) + \int \cos(x) dx \\ &= \underline{\underline{\sin(x) - x \cos(x) + k}} \end{aligned}$$

$$1) e) \int x^3 \cos(x) dx \quad \left| \begin{array}{ll} f(x) = x^3 & g'(x) = \cos(x) \\ f'(x) = 3x^2 & g(x) = \sin(x) \end{array} \right.$$

$$\Rightarrow \int x^3 \cos(x) dx = x^3 \sin(x) - \underbrace{\int 3x^2 \cdot \sin(x) dx}_{\text{Hutheildm}} \quad \left| \begin{array}{ll} f(x) = x^2 & g'(x) = \sin(x) \\ f'(x) = 2x & g(x) = -\cos(x) \end{array} \right.$$

$$= x^3 \sin(x) - 3 \left(x^2 \cdot (-\cos(x)) + \underbrace{\int x \cdot \cos(x) dx}_{\text{Hutheildm}} \right) \quad \left| \begin{array}{ll} f(x) = x & g'(x) = \cos(x) \\ f'(x) = 1 & g(x) = \sin(x) \end{array} \right.$$

$$= x^3 \sin(x) + 3x^2 \cos(x) - 6 \left(x \cdot \sin(x) - \int \sin(x) dx \right)$$

$$= \boxed{x^3 \sin(x) + 3x^2 \cos(x) - 6x \sin(x) + 6 \cos(x) + k}$$

Aufg 3.2

1.9) $\int \log(x) dx \xrightarrow{\text{Einfalda}} \int \frac{\ln(x)}{\ln(2) + \ln(5)} dx = \frac{1}{\ln(2) + \ln(5)} \int \ln(x) dx$

Herleitung

$$\int \ln(x) dx = \int \overbrace{\ln(x)}^{f(x)} \cdot \overbrace{1}^{g'(x)} dx \quad \left| \begin{array}{l} f(x) = \ln(x) \quad g'(x) = 1 \\ f'(x) = \frac{1}{x} \quad g(x) = x \end{array} \right.$$

$$\Rightarrow \int \ln(x) \cdot 1 dx = x \ln(x) - \int \frac{1}{x} \cdot x dx = x \ln(x) - x + k$$

$$\Leftrightarrow \text{Svar: } \frac{1}{\ln(2) + \ln(5)} \cdot (x \ln(x) - x + k) = \frac{x \ln(x) - x}{\ln(2) + \ln(5)} + k$$

2) $\int x \cdot 10^x dx$ $\left| \begin{array}{l} f(x) = x \quad g'(x) = 10^x \\ f'(x) = 1 \quad g(x) = \frac{10^x}{\ln(10)} \end{array} \right.$ — finna með reinkivél

$$\Rightarrow \int x \cdot 10^x dx = \frac{x \cdot 10^x}{\ln(10)} - \frac{1}{\ln(10)} \int 10^x dx = \frac{x \cdot 10^x}{\ln(10)} - \frac{1}{\ln(10)} \cdot \frac{10^x}{\ln(10)} + k$$

$$= \frac{x \cdot 10^x}{\ln(10)} - \frac{10^x}{\ln^2(10)} + k$$

Einfalda $= \frac{\ln(10) \cdot x \cdot 10^x - 10^x}{\ln^2(10)} + k$

Aufg. 3.2)

3
Acht: $e^{x+7} = e^x \cdot e^7$

$$\begin{aligned} 2c) \int 6x e^{x+7} dx &= 6 \int x \cdot e^{x+7} dx \\ &= 6 \int x \cdot e^x \cdot e^7 dx = 6e^7 \int x \cdot e^x dx \end{aligned}$$

Hilfswaldung:

$$\int x e^x dx \quad \left| \begin{array}{ll} f(x) = x & g'(x) = e^x \\ f'(x) = 1 & g(x) = e^x \end{array} \right.$$

$$\int x e^x dx = x \cdot e^x - \int 1 \cdot e^x dx = x \cdot e^x - e^x + C$$

$$\Rightarrow \text{SVAR: } 6e^7 \cdot (x e^x - e^x) + C = \underline{\underline{6(x-1)e^{x+7} + C}}$$

$$2e) \int \sqrt{x} \ln(x) dx \quad \left| \begin{array}{ll} f(x) = \ln(x) & g'(x) = \sqrt{x} = x^{1/2} \\ f'(x) = \frac{1}{x} & g(x) = \frac{2x^{3/2}}{3} \end{array} \right.$$

$$\Rightarrow \int \sqrt{x} \ln(x) dx = \frac{2x^{3/2}}{3} \ln(x) - \int \frac{1}{x} \cdot \frac{2x^{3/2}}{3} dx = \frac{2x^{3/2}}{3} - \frac{2}{3} \int x^{1/2} dx$$

$$= \frac{2x^{3/2}}{3} \ln(x) - \frac{2}{3} \cdot \frac{2}{3} x^{3/2} + C = \underline{\underline{\frac{2x^{3/2}}{3} \ln(x) - \frac{4x^{3/2}}{9} + C}}$$

Aufg 3.2)

(9)

$$2g) \int \frac{\ln(x+1)}{\sqrt{x+1}} dx$$

Byria at $t = x+1$

$$\Leftrightarrow \frac{dt}{dx} = 1 \Rightarrow \underline{\underline{dx = dt}}$$

$$\Rightarrow \int \frac{\ln(t)}{\sqrt{t}} dt = \int \ln(t) \cdot \frac{1}{\sqrt{t}} dt$$

$$\left. \begin{array}{l} f(t) = \ln(t) \quad g'(t) = \frac{1}{\sqrt{t}} \\ f'(t) = \frac{1}{t} \quad g(t) = 2\sqrt{t} \end{array} \right\}$$

Hethaidun

$$\Rightarrow \int \frac{\ln(t)}{\sqrt{t}} dt = \ln(t) \cdot 2\sqrt{t} - \int \frac{1}{t} \cdot 2t^{1/2} dt = \ln(t) \cdot 2\sqrt{t} - 2 \int \frac{1}{\sqrt{t}} dt$$

$$= 2\ln(t) \cdot \sqrt{t} - 4 \cdot \sqrt{t} + k = 2\sqrt{t} (\ln(t) - 2) + k$$

Scripti inu

$$= \underline{\underline{2\sqrt{x+1} (\ln(x+1) - 2) + k}}$$

Äfning 3.2

5

4a) $\int_0^{\pi/3} x \cdot \tan^2(x) dx$

$f(x) = x$	$g'(x) = \tan^2(x)$	Reikni vél
$f'(x) = 1$	$g(x) = \tan(x) - x$	

$$\Rightarrow \int_0^{\pi/3} x \tan^2(x) dx = \left[x(\tan(x) - x) - \int (\tan(x) - x) dx \right]$$

$$= \left[x \tan(x) - x^2 + \ln(\cos(x)) + \frac{x^2}{2} \right]_0^{\pi/3}$$

$$= \left[x \tan(x) + \ln(|\cos(x)|) - \frac{x^2}{2} \right]_0^{\pi/3}$$

$$= \left(\frac{\pi \sqrt{3}}{3} + \ln(2) - \frac{(\pi/3)^2}{2} \right) - (0 + 0 - 0)$$

$$= \frac{\pi \sqrt{3}}{3} + \ln\left(\frac{1}{2}\right) - \frac{\pi^2}{18}$$

Aufg 3.2 |

4.c) $\int_1^2 (4x^3 + 3x^2) \ln(x) dx$

$f(x) = \ln(x)$ $g'(x) = 4x^3 + 3x^2$
 $f'(x) = \frac{1}{x}$ $g(x) = x^4 + x^3$

$$\int_1^2 (4x^3 + 3x^2) \ln(x) dx = \left[\ln(x) \cdot (x^4 + x^3) - \int_1^2 \frac{1}{x} \cdot (x^4 + x^3) dx \right]_1^2$$

$$= \left[\ln(x) \cdot (x^4 + x^3) - \int_1^2 (x^3 + x^2) dx \right]_1^2 = \left[\ln(x) \cdot (x^4 + x^3) - \frac{x^4}{4} - \frac{x^3}{3} \right]_1^2$$

$$= \left(\ln(2) \cdot 24 - 4 - \frac{8}{3} \right) - \left(\ln(1) \cdot 2 - \frac{1}{4} - \frac{1}{3} \right) = \underline{\underline{24 \ln(2) - \frac{73}{12}}}$$

$$\approx \underline{\underline{10,55}}$$